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Welcome. So, we will continue from the previous session, we saw how a pre money, post
money valuation is normally are normally calculated and then how equity shares, value of
equity shares go up. And, then there are 2 ways of allocating equities, that is one from your
share another from the company, how you create. Particularly more important part was during

that discussion is that valuation and number of equity shares that you allocate it is not so,

much linked.

What is linked is what percentage of equity that the investors is asking, that is more
deterministic for defining deciding, how many equities you are going to allocate. So, that is
very important. Of course, valuation, equity and then allocation and persona everything is
interlinked. But, do not think that if the valuation is more you are going to give them more

shares, that is not the case. I just wanted to clarify that part.
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CONCEPTS COVERED

O Startup Valuation.
0 What may go wrong and what should be avoided?

U Pearls of wisdom from successful entrepreneurs and investors.
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Venture Capital Method

Terminal Value (valuation at exit)
Post-money valuation

Return on Investment=

Assuming no dilution

So, again the same topics. Now, there is something called venture capital method. Venture
capital is normally used some established rule, not a particular method or something but, there
is this is one of the methods that they use. They normally use this return on investment.
Suppose, they will have some kind of a terminal value perception. What is terminal value?
Terminal value is the value at which they will exit. Suppose, they have a perception that they

will exit after 5 years, so, that is their investment horizon.

Now, after 5 at the very particular moment even before investing in your company, they will
try to look at the 5 year scenario, at the means the 5th year scenario. That they are exiting
from your company and what is the situation. Meaning, what is the profit that they can expect
in the 5th year and then depending on the profit what is the market value multiple of profit say,
1 rupee of profit is going to be valued 1000 rupees. And, then suppose your company is going
to make 10000 rupees of profit then, they will multiply that with 1000 because, that is the



market multiplier and estimate whatever is the value at which they can exit, that is called

terminal value.

So, their return on investment is terminal value or their value, their portion of the value and no
it is not their portion, it is total value of the company, divided by whatever today they are
making post money valuation. So, today they think that they will be bringing some 1 million

dollar or something on the table on the on the in the company.

So, that is if they bring 1 million dollar suppose, they are your company pre money value is 4
million. So, 4 plus 1 5 million dollar is the post money value. And, after 5 years they see a
valuation of say 100 million dollar. So, 100 million divided by 5 million is equal to return on
investment is 20 times 20 x means, 20 100 2000 percent forget about percent, it is 20 x. That

is what is x in the realm of investment.

So, they will they will tell you our expectation is 20 x return in 5 years given the risk that your
company is exposed to we expect or we will be feeling comfortable with a return on
investment of 20 x. By these what they mean is, they mean 2 things. One is they will exit in 5
years that is a separate information within means at the end of 5 years, they are going to exit.
And, they are expecting a value of 20 times their investment. Why I say their investment

because, post money also includes their money.

Your money plus their money, your money meaning your valuation pre money valuation plus
whatever money they bring is the post money value combine the together, sorry, your value,
your company valuation before the investment and their money makes post money valuation.
Now, post money value is going to inflate or increase 20 times that is what is the terminal

value that is the whole meaning of this discussion.
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Terminal Value

Terminal Value = Revenue x Earnings rate x P/E Ratio

o PIE ratio is ‘Price to Earnings' ratio.
» Price; price of one equity share
o Earnings: Earnings per share
Suppose, the sales in year 5 is ¥1.0 crore and net profitis @1%
» The net profit of the company is #1,00,000 (earnings)
+ Your Company has 1,000 outstanding shares.
» Therefore, eamings per share is earnings/number of shares = ¥1,00,000/1,000
, =1,00 per share
1 Now suppose, One share of Your Company is traded in the stock market at ¥10,00
» 8o, P/E = pricelearnings = £10,000/%100 = 100

So, what is terminal value? Terminal value is nothing but, revenue in the 5th year. Then,
whatever is the earning on the revenue, earning means profit, earning is a term that is used in
US and perhaps Europe. In India, we use the term profit. So, revenue into profit percentage
multiplied by price to earning ratio, I will give I have made an example for you to understand,

what is P E ratio? Let us understand P E ratio.

P E ratio is price to earning ratio number 1; price is the price of 1 equity share in the market.
Now, normally people refer to marketplace stock market but, if you are not thinking of
market, you can even talk about price of 1 rupee of earning. Suppose, 1 rupee of earning is

valued at 20 rupees; that means, price to earning ratio is 20, price is 20, earning is 1 rupee.

So, whether you talk in terms of per share, you talk in terms of 1 rupee profit or you talk in

terms of the entire profit per say. Suppose, your profit is say 1 crore rupees and your P E ratio



is 20. So, you multiply that 1 crore with 20. So, value will be 20 crore. 1 crore rupee is the
profit price to earning ratio is 20 meaning every rupee of earning is valued 20. So, 1 crore

rupees of profit is valued at 20 crore.

So, your company value is 20 crore as simple as that. Understand clearly step by step, it is
given a step by step, earning earnings are earning per share, it maybe 1 rupee also. Suppose,
the sales in year 5 is 1 crore rupees, that is what the venture capital is talking to you or say
angel is talking to you, that in the 5th year, I guess that your turnover will be 1 crore rupees.
And, your net profit will be something like 1 percent only. So, the net profit of your company
is going to be 1 percent of 1 crore, which is 1 lakh rupees, your company has 1000

outstanding shares.

So, divide that 100000 rupees of profit by the number of shares you get earning per share. So,
your earning per share is 100000 divided by 1000 which is 100. So, your EPS or earning per
share is 100. Now, suppose 1 share of your company is traded in a stock market in the 5th
year at 10000 rupees. That means, price to earning ratio is 10000 rupees is the market price,
100 rupees is the earning per share divided by that you get P E ratio of 100 that is the P E

ratio.
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Estimating Terminal Value

Investment £1.00 crore
Exit year 5t year
Revenues % 1.0crore
Earnings (Net Profit) 1% (X1.0 lakh)
P/E 100 x

Terminal Value $30 million
Terminal Value = Revenue x Earnings rate x P/E Ratio
Terminal Value = 1.0 crore x 1.0%x 100 = 1.0 crore
Terminal Value = 1.0 crore x 20%x 100 = %20 crore

HE

==

So, your investment suppose the company the angel invest 1 crore rupees, exit in the Sth year,
revenue in the 5th year is 1 crore rupees, earnings is 1 percent, price to earning ratio is 100,
terminal value in that sense will be 2 crore rupees. Forget about this line terminal value 30
million just forget about this for a while. Terminal value is equal to revenue multiplied by
earnings rate into P E ratio, which in our case is 1 crore rupees is the revenue, 1 percent is the
earning rate, 100 is the P E ratio that I showed, it becomes 1 crore rupees. Terminal value is

equal to 1 crore rupees.

Suppose, this is another example sorry for not mentioning it here, terminal value in case the
profit percentage is 20 percent. Then rather than 1 percent it becomes 20. So, your terminal

value will be 20 crore. 1 crore rupees is the sales or revenue, 20 percent is the profit. So, 20



lakh is the profit in that case earning multiple price to earning multiple is 100. So, it becomes

20 crore rupees. So, exit value, value of the company at the time of exit is 20 crore.
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Venture Capital Method Made Easy

* Determine the potential value of company at exit (“terminal
value”): i.e., X20 crore

* Determine the return on investment required: i.e., 10X
* Calculate Post-Money: %20crore/10 = %2.0 crore

* Determine size of investment: 1.0 crore

* Calculate Pre-Money: % 2.0 crore - 1.0 crore = X 1.0 crore

Now, they are investing how much? That they will estimate based on the 20 crore, they need
10X return, 10 times the return. Suppose, they are sitting there and they think that your
company should give them a 10X return only then they will invest. So, they will divide your 20
crore of exit value by 10, you get 2 crore. That means, post money value of the company is 2
crore, if you remember this formula here. Terminal value is nothing but, post money value

terminal sorry.

If you divide terminal value with your 10X to 20X or whatever, that becomes your post
money value. So, in this case the post money value is equal to 20 crore divided by their return

expectation that is 10X. So, you get 2 crore rupees of post money value. Now, they have



already determined that your pre money value is 1 crore and your post money value is 2 crore;

that means, they are bringing in 1 crore rupee, they can bring in 1 crore.
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L —
Venture Capital Method - Working Backwards From Exit

* Estimate terminal value
* Project all financing rounds to exit

* Build in valuation step-ups for each round
* Work backward to determine initial pre-money

They are comfortable to bring in 1 crore, that is the money that they are going to invest. That

is how they calculate, that is how the venture capital method is done.

So, if you work backward you estimate the terminal value after 5 years then; project all
financing rounds to exit in between suppose, we are slightly moving forward. Suppose, in the
Sth year before the 5 year period, in between say in the 3rd year or some time you raised
another round of funding. So, there may be multiple round of funding. But, eventually when
you exit you have to backtrack and estimate the present value only then you can estimate how
much money the angel or the v ¢ will bring in, should bring in to get some kind of folding that

comes later. What backward to determine the initial pre money.
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Venture Capital Method - Working Backwards From Exit

Assume: X100 cr exit and %10 cr capital raise,
with X2cr Series A and X8cr Series B

80 2 8cr Series B = 5x Return to Exit
= Post-Money = X20cr

E L = Pre-Money = X12M

'é 0 sxsiepUplo 3201 Series A~ 3x Step-Up from A—B
3 = £ Post-Money = X4cr (12/3)
2 3x Step-Up from

2 i PostAloPre8 ) Pre-Money = X2cr
Raise
I LF]-) -

Exit Series BSeries A

Now, let us see it with an example, slightly difficult part but, follow very carefully, it is not so
difficult. Now, this is the venture capital method of estimating, how much money they should
invest in your company. Assume that during exit your company valuation is 100 crore rupees,
look at the blue long bar, that is 100 crore. That is the exit that is the 5th year. So, x axis
actually increases not in decreases moving forward. Series A is the zeroth year, series B maybe

3rd year, exit is happening on the 4th year.

So, while y axis is 0, x axis is starts at 5, Sth year, 3rd year, zeroth year. Now, assume that
you are exiting at a valuation of 100 crore and say you raised total capital of 10 crore. Total
capital meaning from series A you have raised something like 2 crore, series B you have raised

say 8 crore, Series A of 2 crore, series B of 8 crore. So, let us see how this is decided as to



what should be the valuation at series A or series B how these are decided, as per venture

capital method.

So, we backtrack as I said. So, first we have to see series B. Now, your exit valuation is 100
crore. Suppose, your expectation is 5x return not 10x 20x, 5x return. So, how much is the pre
post money value. Post money value as I said is exit money divided by how many x of return
that you expect. So, 100 crore is the exit value and 5x is the return. So, divide 100 by 5, you
get 20 crore, that is the post money value. If 20 crore is the post money value and you raised 8

crore of pre money funding.

So, what is the pre money value post money funding? What is the pre money value is 12 crore,
it is not M actually I copied it from somewhere. So, that remained here. So, pre money value
is 12 crore. 2 crore now we move forward in the next part. The place from where I have taken
the slide is given in the reference the number 1 reference and I duly recognize their work and it
is not just a blatant copy and claiming that it is mine. So, it is there very much in the reference

part.

I have changed some data some units also for your understanding, I have added lot of lot of
things in between. So, 2 crore now we have already come up that pre money valuation at the
time of second round of value valuation, second round of fund raising was 12 million. So, we
will start from there. Now, 12 million was the pre money value of the second round that we
think now is the exit value. So, if 12 crore rupees is the exit value, what is the post money
value of the first round? You remember that post money post money valuation is available by

dividing the exit value divided by expected rate of return.

Now, here the pre money of the second round becomes the exit value because, that is another
round of funding and suppose your first round of investor expect a 3x return. So, divide that
12 crore rupees divided by 3, you get 4 crore that is the post money valuation. Now, you
deduct the pre you deduct the amount that you raise that is 2 crore from the post money

valuation you get the pre money value that is 2 crore, as simple as that.



So, I hope that you understand I will just revisit quickly. So, for a complex situation where
you have multiple rounds of funding, how you decide how you decide you are sitting in year 0
and you are looking at the future. So, how you decide that how much money you should
demand or how much money the investor should give you, you are in year 0. Now, suppose
you have all these panned out that you want to raise say 2 crore rupees today and then 8 crore

rupees in the 3rd year and then in the 5th year you are going to give all of them an exit.

So, how much is the value that should be estimated by back calculating. So, you know that
exit value should be 5 times the post money valuation of the second round or say the venture
capital method of valuation in the 5th year is 100 crore. Because, they have estimated some
kind of turnover in the 5th year and some profit percentage in the 5th year and some price to
earning multiple in the 5th year, they have multiplied them and got a valuation of 100 crore

that is what is this blue bar.

Now, you already know that they want in the exit they want 5x return. Divide 1000 divided by
5 you get 20 and that is the post money valuation in the second round. Deduct 8§ crore rupees
of funding that you have received from them, you get pre money value that is 12 crore. Now,
you know 12 crore rupees is the pre money valuation in the second round that becomes the

exit value for the first round.

Now, for the first round your investor wants a 3x return at the end of 3 years and the end of 3
years the valuation of the company exit valuation is 12 crore. So, 12 crore divided by 3x
return makes 12 makes 4 crore rupees, 12 by 3. That is the post money valuation of today and

pre money is 2 crore. So, post money is 4 crore minus 2 crore is 2 crore.
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I, —
Scorecard Method

* Determine median value for pre-revenue companies in your
space in your region (recent deals)

* Assign % weighting on each critical issue
* Calculate the weighted average of each issue

* Multiply median value by weighted average

That is the whole story here, Scorecard method. I will explain with an example, you determine

median value for pre revenue companies in your space.

Suppose, you are in say android application developer so, in android developer how things are
selling, what are the valuation of different metrics of the company. So, you assign different
weightages in different metrics management say I P say promoter, founder etcetera or level of
development. All these you just keep on assigning value, calculate the weighted average of
each issue and then multiply the median value of weighted average valuation to get your

company valuation look at this.
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Valuation Factors

* Management 30%
* Size of Opportunity 25%
* Products /Services 15%
* Marketing/Sales 10%

* Competition

Suppose, management you think management is very important. So, management should get
30 percent of the valuation, size of opportunity get 25 percent weightage, product get 15

percent weightage, marketing get 10 percent weightage, competition get 10 percent.
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I, ——
Calculate Weighted Average Multiple

% Compared o median
value

FACTOR ANALYSIS WEIGHT RESULT INPUT
Management On board except sales 0% 120% 36%
Opportunity Large 25% 130% 33%
Product Disruptive 15% 130% 20%
Sales No channels 10% 50% 5%
Competition No big layers 10% 110% 11%
Other Need partners 10% 80% 8%

Weighted Average

Now, you try to assess your own company suppose, your company management is kind of
wonderful. So, you want to assess 30 percent premium over the median value. So, your

company becomes say or say 20 percent premium not 30 20 percent premium.

So, you say management holds 30 percent weightage and you think that your management is
20 percent enjoy 20 percent premium over the median company. So, you want to assign 36
percent weightage on that. Similarly, opportunity you think your company enjoys 30 percent
premium. So, it becomes 33 percent weightage likewise, the weightage are changes. So,

weighted average becomes 100 and 12.
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Calculate Pre-Money Valuation

Median Value % 2.0crore
Weighted Multiple 1.12

Pre-Money Valuation 2.3 crore

Now, you identify companies which are getting sold or value evaluated. Then, suppose the
median value is 2 crore and you are weighted multiple is 1.12 you get 2.3 crore. So, multiplied
by 2 crore with 1.12 you get 2.3 crore of valuation, that is the pre money valuation of your

company. And, that is how this a Scorecard method is used to value company.
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Risk Factor Method

* Determine a starting valuation point
* Consider and assess risk
* Assign positive or negative values to each

* Pre-money valuation = Sum

Now, there is something called Risk Factor method. Determine a starting valuation point
consider and assess risk like every stage, you assign some risk point. Say idea stage, say
prototype stage, validation stage, every stage the risk reduces, consider and assess the risk.

Assign positive or negative values to each.

Like suppose, you have 10 companies. Say you take one company and you find that they are
at idea stage. So, for technology you assign minus 2 to them or minus 3 to them. There is
another company who has gone to market already. So, rather than assigning negative value to

them, you assign positive 3, positive 2, positive 1 or something.

Likewise, you determine what should be the matrix based on which I will make the valuation.

Then, depending on the status of the company you assign negative value or positive value,



negative high value or positive high value then, make a sum of them and then estimate risk

type.
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Risk Types
* Management * Technology Risks
+ Stage of Business + Litigation Risks

* Legislative/Political Risk ¢+ International Risk
* Manufacturing Risk * Reputational Risk
+ Sales & Marketing Risk  + Potential Lucrative Exit

* Funding/Raising Capital
Risk

* Competition

These are these may be some of the risk parameters or metrics.
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Assign Values to Each Risk
+ Maximum/Minimum = +3/-3

* i.e., “Stage of Business Risk”
(0 for pre-revenue
" +1 for beta
®+3 for paying customers

* +1=%10 lakh added to pre-money valuation
+ -3 = §-300k subtracted from pre-money

Now, here is an example. Suppose, you think that maximum I will assign 3, minimum I will

assign minus 3.

So, 0 for pre revenue period, plus 1 for beta testing, plus 3 for paying customers suppose, they
have acquired some customer. For each value you are going to assign say rupees 10 lakh
added pre money valuation and for minus 3 you are assigning say 30 lakh rupees of minus

valuation.
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Example

Management +2|:10X2 = 220 lakh added

Stage of Business +1 : 10X1 = %10 lakh added
Legislative/Political Risk 0/ Neutral.

Manufacturing Risk =1 :10X(=)1 = (~) %10 lakh subtracted
Sales & Marketing Risk -3 : 10X(-)3 = (~) X30 lakh subtracted
Funding/Raising Capital Risk =1/ :10X(=)1 = (-) %10 lakh subtracteg
Competition +1 :10X1 = %10 lakh added
Technology Risks +2|:10X2 = 220 lakh added

Litigation Risks 0/ Neutral.

International Risk +1 : 10X1 =10 lakh addeg
Reputational Risk 0| Neutral.

Potential Lucrative Exit +1): 10X1 = 10 lakh adq

Now, look at this example say for a particular company you think that management is doing
quite good, meaning they are balanced. There are some engineers and management graduate

and they have experience credential. So, you assign plus 2.

So, every value will be multiplied by 10. So, 10 into 2 becomes 20 lakh suppose, instead of
business is kind of type. So, you assign a plus 1, it becomes 10 lakh rupees you add to the pre
money value, legislative, political risk, suppose it is neutral there is no political risk. So, do not

assign any value.

Now, manufacturing risk you think that there is quite a lot of risk. So, you assign minus 1 so,

that the pre money value will be reduced by minus 10 lakh. Similarly, sales and marketing risk



say minus 3. So, minus 3 into 10, 30 lakh rupees will be deducted from your pre money value

likewise, all the parameters will be assigned values.
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Risk Factor Summary Example

Base Valuation £200,00,000
Total value of plusses (8) +%80,00,000
Total value of minuses (5) -%50,00,000

Pre-Money Valuation $2,30,00,000

Then, you make a kind of a base value suppose, base value is say 200,00,000 rupees suppose,
you think that base value is 200,00,000. Now, you add and subtract depending on whatever
you want to add or subtract from the pre money value. So, you have added 80,00,000 rupees,

you have subtracted 50,00,000, you got 2,30,00,000 rupees of pre money valuation.
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Concluding Truths

* Returns drive investment decision

* Calculations generally did not include dilution events such as the
impact of subsequent investments

+ Valuation is an art not a science

* More important to calculate it rationally and not emotionally
* Use multiple methods

* Estimated valuations are fine to get the conversation started

Now, return drive investment decisions. Calculation generally did not include dilution etcetera.
Then, like say at every stage there might be dilution also. Valuation is an art not a science,
more important to calculate it rationally and not emotionally, use multiple methods, estimate

valuations. It means whenever conversation gets started.



(Refer Slide Time: 24:29).

- Stephen Thau, PARTNER, PALO ALTO/WASHINGTON D.C.,
STHAU@MOFOQ.COM

+ Wwww.upcounsel.com » startup-valuation-methods

+ www.startups.com » library » expert-advice » startup-valuation-methods

« https://masschallenge.org/article/how-to-value-a-startup-compan
with-no-revenue

« www.angelventureforum.com » mofoavipresentationthaupptx

Now, here is the reference of Stephen Thau my whole presentation is kind of inspired by
whatever he said, you can see the Google search his presentation and you can see the

presentation but, you will you will realize that my presentation is far different.

There may be some 1 2 3 locations where, I have taken some examples.
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https:/funsplash.com/s/photos/backqround for images

O www.startups.com » library » expert-advice » startup-valuation-methods

0 https/islidebean.com/templates/investor-deck-template

0 Various Wikipedia pages
Q htips:/iwww.linkedin.com/in/aniruddhamalpani/ ?originalSubdomain=in
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U Valuation is subjective

O Investors make postures through low valuation. Be mindful and do hard bargain.

U Itis not necessary that higher valuation is good for the startup since maintaining

expectation may be difficult.
0 Use multiple method when in doubt and have a optimistic, realistic and

pessimistic perspectives.

But, otherwise I have brought in a lot of value to this domain, concluding remarks. Valuation
is subjective, investors make postures like they will see your company has so much of loss.
There is no value at all but, I will be kind of kind to give some value be mindful about that
hard bargain. But, remember it is not necessary that high valuation is going to give you some

kind of you know winning proposition.

In fact, many companies died because, they had too high valuation, do not go for too high
valuation. Use multiple methods, meaning one method may not give you some kind of a
wonderful idea or something. So, use many methods and take a pessimistic realistic and
optimistic view. And, eventually make some kind of an average that let us settle with this and
if the valuation is like that, you should be happy with that. Hope you understand something
from this.



Thank you very much.



